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BIOLOGY

BOOKS - U-LIKE BIOLOGY (HINGLISH)

OUR ENVIRONMENT

N C E R T Questions

1. What are trophic levels ? Give an example of

a food chain and state the different trophic

levels in it .


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mFMD9wke8sSr

° View Text Solution

2. What is the role of decomposition in the

ecosystem ?

o View Text Solution

3. Why are some substances biodegradable

and some non-biodegradable ?

° View Text Solution



https://dl.doubtnut.com/l/_mFMD9wke8sSr
https://dl.doubtnut.com/l/_k4rMbmftBTQM
https://dl.doubtnut.com/l/_BwqSpaFjreBj
https://dl.doubtnut.com/l/_cKmfPPLVrJGr

4. Give any two ways in which biodegradable

substances would affect the environment.

o View Text Solution

5. Give any two ways in which non-
biodegradable substances would affect the

environment.

o View Text Solution



https://dl.doubtnut.com/l/_cKmfPPLVrJGr
https://dl.doubtnut.com/l/_BtzbmnCu8RtO

6. What is ozone and how does it affect any

ecosystem ?

o View Text Solution

7. How can you help in reducing the problem

of waste disposal ? Give any two methods.

o View Text Solution

N C E R T Exercises


https://dl.doubtnut.com/l/_JyrvXgQqOF9q
https://dl.doubtnut.com/l/_aSOpAo4BXsyb
https://dl.doubtnut.com/l/_nds878kBgUlN

1. Which of the following groups contain only

biodegradable items?

A. Grass, wood and plastic

B. Fruit peels, cake and lime-juice

C. Cake, wood and grass

D. Groups (a), (c) and (d).

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_nds878kBgUlN

2. Which of the following constitute a food

chain ?

A. Grass, goat and human

B. Goat, cow and elephant

C. Grass, fish and goat

D. b Grass, goat and human

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_FOSGck0WzU2t
https://dl.doubtnut.com/l/_qZUlOn9OcXkC

3. Which of the following are environment-

friendly practices ?

A. Switching off unnecessary lights and

fans

B. Walking to school instead of getting

your mother to drop you on her scooter.

C. All of the above.

D. (d) All of the above.

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_qZUlOn9OcXkC

4. What will happen if we kill all the organisms

in one trophic level ?

o View Text Solution

5. Will the impact of removing all the
organisms in a trophic level be different for
different trophic levels ? Can the organisms of
any trophic level be removed without causing

any damage to the ecosystem?

| = 1


https://dl.doubtnut.com/l/_qZUlOn9OcXkC
https://dl.doubtnut.com/l/_eG6Y19hOv8vn
https://dl.doubtnut.com/l/_7ly86XJaoN7P

l &J View Text Solution I

6. What is biological magnification ? Will the
levels of this magnification be different at

different levels of the ecosystem?

° View Text Solution

7. What are the problems caused by non-

biodegradable wastes that we generate ?

o View Text Solution



https://dl.doubtnut.com/l/_7ly86XJaoN7P
https://dl.doubtnut.com/l/_hfRobPnrZriZ
https://dl.doubtnut.com/l/_fakFPM03B4fk

8 |If all the waste we generate s
biodegradable, will this have no impact on the

environment ?

o View Text Solution

9. Why is damage to the ozone layer a cause
for concern ? What steps are being taken to

limit this damage ?

o View Text Solution



https://dl.doubtnut.com/l/_NWZ0BvL2BM1t
https://dl.doubtnut.com/l/_gcQrwLlWboBF

Case Based Source Based Integrated Questions

1. Enzymes are specific in their action, specific
enzymes are needed for the break-down of a
particular substance. That is why we will not
get any energy if we try to eat coal! Because of
this, many human-made materials like plastics
will not be broken down by the action of
bacteria or other saprophytes. These materials
will be acted upon by physical processes like
heat and pressure, but under the ambient

conditions found in our environment, these


https://dl.doubtnut.com/l/_Ud0iVQqPF0A8

persist for a long time.

Substances that are broken down by biological
processes are said to be biodegradable.
Substances that are not broken down in this
manner are said to be non-biodegradable.
These substances may be inert and simply
persist in the environment for a long time or
may harm the various members of the eco-
system.

Why are enzymes specific in their action ?

° View Text Solution



https://dl.doubtnut.com/l/_Ud0iVQqPF0A8
https://dl.doubtnut.com/l/_NL3ofwXV8ReJ

2. Enzymes are specific in their action, specific
enzymes are needed for the break-down of a
particular substance. That is why we will not
get any energy if we try to eat coal! Because of
this, many human-made materials like plastics
will not be broken down by the action of
bacteria or other saprophytes. These materials
will be acted upon by physical processes like
heat and pressure, but under the ambient
conditions found in our environment, these
persist for a long time.

Substances that are broken down by biological

processes are said to be biodegradable.


https://dl.doubtnut.com/l/_NL3ofwXV8ReJ

Substances that are not broken down in this
manner are said to be non-biodegradable.
These substances may be inert and simply
persist in the environment for a long time or
may harm the various members of the eco-
system.

Why will we not derive any energy if we eat

coal, even though it releases lot of energy ?

o View Text Solution



https://dl.doubtnut.com/l/_NL3ofwXV8ReJ

3. Enzymes are specific in their action, specific
enzymes are needed for the break-down of a
particular substance. That is why we will not
get any energy if we try to eat coal! Because of
this, many human-made materials like plastics
will not be broken down by the action of
bacteria or other saprophytes. These materials
will be acted upon by physical processes like
heat and pressure, but under the ambient
conditions found in our environment, these
persist for a long time.

Substances that are broken down by biological


https://dl.doubtnut.com/l/_EBXLYtpS9kxU

processes are said to be biodegradable.
Substances that are not broken down in this
manner are said to be non-biodegradable.
These substances may be inert and simply
persist in the environment for a long time or
may harm the various members of the eco-
system.

Give one difference between biodegradable

and non biodegradable substances.

o View Text Solution



https://dl.doubtnut.com/l/_EBXLYtpS9kxU

4. Enzymes are specific in their action, specific
enzymes are needed for the break-down of a
particular substance. That is why we will not
get any energy if we try to eat coal! Because of
this, many human-made materials like plastics
will not be broken down by the action of
bacteria or other saprophytes. These materials
will be acted upon by physical processes like
heat and pressure, but under the ambient
conditions found in our environment, these
persist for a long time.

Substances that are broken down by biological


https://dl.doubtnut.com/l/_RqcdpxcpMvso

processes are said to be biodegradable.

Substances that are not broken down in this
manner are said to be non-biodegradable.
These substances may be inert and simply
persist in the environment for a long time or
may harm the various members of the eco-

system.

o View Text Solution

5. Organisms depend on the producers either

directly or indirectly for their sustenance ?


https://dl.doubtnut.com/l/_RqcdpxcpMvso
https://dl.doubtnut.com/l/_UU8d5EmpmxA6

These organisms which consume the food
produced, either directly from producers or
indirectly by feeding on other consumers are
the consumers. Consumers can be classed
variously as herbivores, carnivores, omnivores
and parasites.

The microorganisms, comprising bacteria and
fungi, break-down the dead remains and waste
products of organisms. These microorganisms
are the decomposers as they break-down the
complex organic substances into simple
inorganic substances that go into the soil and

are used up once more by the plants.


https://dl.doubtnut.com/l/_UU8d5EmpmxA6

Why do all organisms depend on producers

for their substances ?

° View Text Solution

6. Organisms depend on the producers either
directly or indirectly for their sustenance ?
These organisms which consume the food
produced, either directly from producers or
indirectly by feeding on other consumers are
the consumers. Consumers can be classed

variously as herbivores, carnivores, omnivores


https://dl.doubtnut.com/l/_UU8d5EmpmxA6
https://dl.doubtnut.com/l/_JOk2Hic3reKG

and parasites.

The microorganisms, comprising bacteria and
fungi, break-down the dead remains and waste
products of organisms. These microorganisms
are the decomposers as they break-down the
complex organic substances into simple
inorganic substances that go into the soil and
are used up once more by the plants.

Give one example each of a herbivore,

carnivore, omnivore and a parasite.

° View Text Solution



https://dl.doubtnut.com/l/_JOk2Hic3reKG
https://dl.doubtnut.com/l/_uxkWOgf2UQfi

7. Organisms depend on the producers either
directly or indirectly for their sustenance ?
These organisms which consume the food
produced, either directly from producers or
indirectly by feeding on other consumers are
the consumers. Consumers can be classed
variously as herbivores, carnivores, omnivores
and parasites.

The microorganisms, comprising bacteria and
fungi, break-down the dead remains and waste
products of organisms. These microorganisms
are the decomposers as they break-down the

complex organic substances into simple


https://dl.doubtnut.com/l/_uxkWOgf2UQfi

inorganic substances that go into the soil and
are used up once more by the plants.
What happens to the body/or a body part on

death of the organism ?

° View Text Solution

8. Organisms depend on the producers either
directly or indirectly for their sustenance ?
These organisms which consume the food
produced, either directly from producers or

indirectly by feeding on other consumers are


https://dl.doubtnut.com/l/_uxkWOgf2UQfi
https://dl.doubtnut.com/l/_ZrZSjmf8qC3E

the consumers. Consumers can be classed
variously as herbivores, carnivores, omnivores
and parasites.

The microorganisms, comprising bacteria and
fungi, break-down the dead remains and waste
products of organisms. These microorganisms
are the decomposers as they break-down the
complex organic substances into simple
inorganic substances that go into the soil and
are used up once more by the plants.

What do you infer about ecosystem from this

information from the passage ?

l ° View Text Solution


https://dl.doubtnut.com/l/_ZrZSjmf8qC3E

9. The length and complexity of food chains
vary greatly. Each organism is generally eaten
by two or more other kinds of organisms
which in turn are eaten by several other
organisms. The energy that is captured by the
autotrophs does not revert back to the solar
input and the energy which passes to the
herbivores does not come back to autotrophs.
As it moves progressively through the various
trophic levels it is no longer available to the

previous level.


https://dl.doubtnut.com/l/_ZrZSjmf8qC3E
https://dl.doubtnut.com/l/_IdhWpmos1ENQ

One of the reasons is the use of several
pesticides and other chemicals to protect our
crops from diseases and pests. These
chemicals are either washed down into the
soil or into the water bodies. From the soil,
these are absorbed by the plants along with
water and minerals, and from the water bodies
these are taken up by aquatic plants and
animals.

From the information given, figure out what
according to you is more appropriate - Food

chain or Food web ?

l ° View Text Solution


https://dl.doubtnut.com/l/_IdhWpmos1ENQ

10. The length and complexity of food chains
vary greatly. Each organism is generally eaten
by two or more other kinds of organisms
which in turn are eaten by several other
organisms. The energy that is captured by the
autotrophs does not revert back to the solar
input and the energy which passes to the
herbivores does not come back to autotrophs.
As it moves progressively through the various
trophic levels it is no longer available to the

previous level.


https://dl.doubtnut.com/l/_IdhWpmos1ENQ
https://dl.doubtnut.com/l/_YGBZuQOiT4IC

One of the reasons is the use of several
pesticides and other chemicals to protect our
crops from diseases and pests. These
chemicals are either washed down into the
soil or into the water bodies. From the soil,
these are absorbed by the plants along with
water and minerals, and from the water bodies
these are taken up by aquatic plants and
animals.

What according to you would be the pyramid

of energy life?

o View Text Solution



https://dl.doubtnut.com/l/_YGBZuQOiT4IC

11. The length and complexity of food chains
vary greatly. Each organism is generally eaten
by two or more other kinds of organisms
which in turn are eaten by several other
organisms. The energy that is captured by the
autotrophs does not revert back to the solar
input and the energy which passes to the
herbivores does not come back to autotrophs.
As it moves progressively through the various
trophic levels it is no longer available to the
previous level.

One of the reasons is the use of several


https://dl.doubtnut.com/l/_t6Tvgxkc36cZ

pesticides and other chemicals to protect our
crops from diseases and pests. These
chemicals are either washed down into the
soil or into the water bodies. From the soil,
these are absorbed by the plants along with
water and minerals, and from the water bodies
these are taken up by aquatic plants and
animals.

Chemicals are used as pesticides. How does

this impact the environment ?

° View Text Solution



https://dl.doubtnut.com/l/_t6Tvgxkc36cZ
https://dl.doubtnut.com/l/_SgzjaeVLhQtm

12. The length and complexity of food chains
vary greatly. Each organism is generally eaten
by two or more other kinds of organisms
which in turn are eaten by several other
organisms. The energy that is captured by the
autotrophs does not revert back to the solar
input and the energy which passes to the
herbivores does not come back to autotrophs.
As it moves progressively through the various
trophic levels it is no longer available to the
previous level.

One of the reasons is the use of several

pesticides and other chemicals to protect our


https://dl.doubtnut.com/l/_SgzjaeVLhQtm

crops from diseases and pests. These
chemicals are either washed down into the
soil or into the water bodies. From the soil,
these are absorbed by the plants along with
water and minerals, and from the water bodies
these are taken up by aquatic plants and
animals.

What is the alternative to above mentioned

problem?

o View Text Solution



https://dl.doubtnut.com/l/_SgzjaeVLhQtm

13. Ozone (Os3) is a molecule formed by three
atoms of oxygen. While Oy, which we normally
refer to as oxygen, is essential for all aerobic
forms of life. Ozone, is a deadly poison.

The amount of ozone in the atmosphere
began to drop sharply in the 1980s. This
decrease has been linked to synthetic
chemicals like chlorofluorocarbons (CFCs)
which are used as refrigerants and in fire
extinguishers. In 1987, the United Nations
Environment Programme (UNEP) succeeded in

forging an agreement to freeze CFC


https://dl.doubtnut.com/l/_QOuhuO7pKv9L

production at 1986 levels.

Where is O3 present ?

o View Text Solution

14. Ozone (O3) is a molecule formed by three
atoms of oxygen. While O, which we normally
refer to as oxygen, is essential for all aerobic
forms of life. Ozone, is a deadly poison.

The amount of ozone in the atmosphere
began to drop sharply in the 1980s. This

decrease has been linked to synthetic


https://dl.doubtnut.com/l/_QOuhuO7pKv9L
https://dl.doubtnut.com/l/_g7OSXUzcx2MR

chemicals like chlorofluorocarbons (CFCs)
which are used as refrigerants and in fire
extinguishers. In 1987, the United Nations
Environment Programme (UNEP) succeeded in
forging an agreement to freeze CFC
production at 1986 levels.

What is its role in our environment ?

o View Text Solution

15. Ozone (O3) is a molecule formed by three

atoms of oxygen. While O, which we normally


https://dl.doubtnut.com/l/_g7OSXUzcx2MR
https://dl.doubtnut.com/l/_w0surSIj4jEb

refer to as oxygen, is essential for all aerobic
forms of life. Ozone, is a deadly poison.

The amount of ozone in the atmosphere
began to drop sharply in the 1980s. This
decrease has been linked to synthetic
chemicals like chlorofluorocarbons (CFCs)
which are used as refrigerants and in fire
extinguishers. In 1987, the United Nations
Environment Programme (UNEP) succeeded in
forging an agreement to freeze CFC
production at 1986 levels.

Why is UV radiation harmful ?

l ° View Text Solution


https://dl.doubtnut.com/l/_w0surSIj4jEb

16. Ozone (Os3) is a molecule formed by three
atoms of oxygen. While O, which we normally
refer to as oxygen, is essential for all aerobic
forms of life. Ozone, is a deadly poison.

The amount of ozone in the atmosphere
began to drop sharply in the 1980s. This
decrease has been linked to synthetic
chemicals like chlorofluorocarbons (CFCs)
which are used as refrigerants and in fire
extinguishers. In 1987, the United Nations

Environment Programme (UNEP) succeeded in


https://dl.doubtnut.com/l/_w0surSIj4jEb
https://dl.doubtnut.com/l/_8y3rXZB8Vdbd

forging an agreement to freeze CFC
production at 1986 levels.

In current scenario of COVID-19 pandemic,
globally, what has been the impact of the

lockdown in many countries on the ozone hole

?

o View Text Solution

17. Human body is made up of five important
components, of which water is the main

component. Food as well as potable water are


https://dl.doubtnut.com/l/_8y3rXZB8Vdbd
https://dl.doubtnut.com/l/_Lrj5W2GAUJav

essential for every human being. The food is
obtained from plants through agriculture.
Pesticides are being used extensively for a
high yield in the fields. These pesticides are
absorbed by the plants from the soil along
with water and minerals and from the water
bodies these pesticides are taken up by the
aquatic animals and plants. As these chemicals
are not biodegradable, they get accumulated
progressively at each trophic level. The
maximum concentration of these chemicals
gets accumulated in our bodies and greatly

affects the health of our mind and body.


https://dl.doubtnut.com/l/_Lrj5W2GAUJav

Why is the maximum concentration of

pesticides found in human beings?

° View Text Solution

18. Human body is made up of five important
components, of which water is the main
component. Food as well as potable water are
essential for every human being. The food is
obtained from plants through agriculture.
Pesticides are being used extensively for a

high yield in the fields. These pesticides are


https://dl.doubtnut.com/l/_Lrj5W2GAUJav
https://dl.doubtnut.com/l/_BSRHOPhRyr2U

absorbed by the plants from the soil along
with water and minerals and from the water
bodies these pesticides are taken up by the
aquatic animals and plants. As these chemicals
are not biodegradable, they get accumulated
progressively at each trophic level. The
maximum concentration of these chemicals
gets accumulated in our bodies and greatly
affects the health of our mind and body.

Give one method which could be applied to
reduce our intake of pesticides through food

to some extent.

l ° View Text Solution


https://dl.doubtnut.com/l/_BSRHOPhRyr2U

19. Human body is made up of five important
components, of which water is the main
component. Food as well as potable water are
essential for every human being. The food is
obtained from plants through agriculture.
Pesticides are being used extensively for a
high yield in the fields. These pesticides are
absorbed by the plants from the soil along
with water and minerals and from the water
bodies these pesticides are taken up by the

aquatic animals and plants. As these chemicals


https://dl.doubtnut.com/l/_BSRHOPhRyr2U
https://dl.doubtnut.com/l/_syHg9YwWbARo

are not biodegradable, they get accumulated
progressively at each trophic level. The
maximum concentration of these chemicals
gets accumulated in our bodies and greatly
affects the health of our mind and body.
Various steps in a food chain represent :

A. Food web

B. Trophic level

C. Ecosystem

D. Biomagnification

Answer:


https://dl.doubtnut.com/l/_syHg9YwWbARo

° View Text Solution

20. Human body is made up of five important
components, of which water is the main
component. Food as well as potable water are
essential for every human being. The food is
obtained from plants through agriculture.
Pesticides are being used extensively for a
high yield in the fields. These pesticides are
absorbed by the plants from the soil along
with water and minerals and from the water

bodies these pesticides are taken up by the


https://dl.doubtnut.com/l/_syHg9YwWbARo
https://dl.doubtnut.com/l/_27ByHWtyU4fm

aquatic animals and plants. As these chemicals
are not biodegradable, they get accumulated
progressively at each trophic level. The
maximum concentration of these chemicals
gets accumulated in our bodies and greatly
affects the health of our mind and body.

With regard to various food chains operating

in an ecosystem, man is a

A. Consumer

B. Producer

C. Producer and consumer


https://dl.doubtnut.com/l/_27ByHWtyU4fm

D. Producer and decomposer.

Answer:

o View Text Solution

Multiple Choice Questions One Mark Each

1. Which of the following is not abiotic

component of an ecosystem?

A. Rainfall


https://dl.doubtnut.com/l/_27ByHWtyU4fm
https://dl.doubtnut.com/l/_B4bXvbCbmluw

B. Plants

C. Animals

D. Human beings

Answer:

o View Text Solution

2. Which of the following is not biodegradable

?

A. Grass


https://dl.doubtnut.com/l/_B4bXvbCbmluw
https://dl.doubtnut.com/l/_183Bz9fRfVf8

B. Plastic bag

C. Paper

D. Wood

Answer:

o View Text Solution

3. The average value for the amount of organic
matter that is present at each step and

reaches the next level of consumers is


https://dl.doubtnut.com/l/_183Bz9fRfVf8
https://dl.doubtnut.com/l/_MF0dnDFT1Zm5

A. 0.01

B.0.2

C.0.05

D. 0.1

Answer:

° View Text Solution

4. As human beings occupy the top level in any

food chain, the maximum concentration of


https://dl.doubtnut.com/l/_MF0dnDFT1Zm5
https://dl.doubtnut.com/l/_DNgBIQdsNYlP

insecticides get accumulated in our bodies.

This phenomenon is known as

A. pollution

B. eutrophication

C. biological magnification.

D. none of these.

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_DNgBIQdsNYlP

5. An ecosystem includes

A. all living organisms

B. non-living objects.

C.both living organisms and non-living

objects.

D.sometimes living organisms and

sometimes non-living objects.

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_gPqbD2QgJeI1

6. Which one of the following is an artificial

ecosystem ?

A. Pond

B. Crop field

C. Lake

D. Forest

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_gPqbD2QgJeI1
https://dl.doubtnut.com/l/_QAOecLUfTjiX

7. In a food chain, the third trophic level is

always occupied by

A. carnivores

B. herbivores

C. decomposers

D. producers

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_njC99yHnRQvs
https://dl.doubtnut.com/l/_iF6xEAFmAQmN

8. In a given food chain , suppose the amount
of energy at fourth trophic level in 5 kJ, what
will be the energy available at the producer
level ?

Grass — Grasshopper — Frog — Snake

— Hawk

A. 5kJ

B. 50k]

C. 500 kJ

D. 5000 kJ


https://dl.doubtnut.com/l/_iF6xEAFmAQmN

Answer:

o View Text Solution

9. Organisms of a higher trophic level which

feed on several types of organisms belonging

to a lower trophic level constitute the

A. Food web

B. ecological pyramid

C. Ecosystem

D. food chain.


https://dl.doubtnut.com/l/_iF6xEAFmAQmN
https://dl.doubtnut.com/l/_ZGa6fwgt2FlQ

Answer:

o View Text Solution

10. Depletion of ozone is mainly due to

A. chlorofluorocarbon compounds.

B. carbon monoxide

C. methane

D. pesticides

Answer:


https://dl.doubtnut.com/l/_ZGa6fwgt2FlQ
https://dl.doubtnut.com/l/_swIdNmQlxSBs

° View Text Solution

11. Excessive exposure of humans to UV rays
results in

(i) damage to immune system.

(i) damage to lungs.

(iii) skin cancer.

(iv) peptic ulcers.

A. (i) and (ii)

B. (ii) and (iv)

C. (i) and (iii)


https://dl.doubtnut.com/l/_swIdNmQlxSBs
https://dl.doubtnut.com/l/_VgZBX3R5kSrY

D. (iii) and (iv)

Answer:

° View Text Solution

12. Flow of energy in an ecosystem is always

A. unidirectional.

B. bidirectional

C. multidirectional

D. no specific direction


https://dl.doubtnut.com/l/_VgZBX3R5kSrY
https://dl.doubtnut.com/l/_uByV5qsPEKMx

Answer:

o View Text Solution

13. Which of the following groups does not

contain only biodegradable items ?

A. Grass, flowers and leather

B. Grass, wood and plastic

C. Fruit-peels, cake and lime juice

D. Cake, wood and grass


https://dl.doubtnut.com/l/_uByV5qsPEKMx
https://dl.doubtnut.com/l/_B1KNpVqw7APm

Answer:

o View Text Solution

14. Which of the following are environmental-

friendly practices ?

A. Carrying the cloth bags to put purchases

in while shopping

B. Switching off unnecessary lights.


https://dl.doubtnut.com/l/_B1KNpVqw7APm
https://dl.doubtnut.com/l/_mdLRTKmDf9jK

C.Walking to school instead of getting

your mother to drop you on her scooter.

D. All of the above.

Answer:

o View Text Solution

15. Which of the following constitute a food-

chain ?

A. Grass, wheat and mango


https://dl.doubtnut.com/l/_mdLRTKmDf9jK
https://dl.doubtnut.com/l/_70tTElV9nLV9

B. Grass, goat and human

C. Goat, cow and elephant

D. Grass, fish and goat

Answer:

o View Text Solution

16. Which of the following limits the number of

trophic levels in a food chain ?

A. Decrease in energy at higher levels


https://dl.doubtnut.com/l/_70tTElV9nLV9
https://dl.doubtnut.com/l/_E9A9Q7FZ0My3

B. Deficient food supply

C. Polluted air

D. Water

Answer:

o View Text Solution

17. In the following groups of materials, which
group(s) contains only non-biodegradable
items?

(i) Wood, paper, leather


https://dl.doubtnut.com/l/_E9A9Q7FZ0My3
https://dl.doubtnut.com/l/_xwmbXuZNS2jA

(i) Polythene, detergent, PVC
(i) Plastic, detergent, grass

(iv) Plastic, bakelite, DDT

A. (iii)

B. (iv)

C. (i) and (iii)

D. (ii) and (iv)
Answer:

o View Text Solution



https://dl.doubtnut.com/l/_xwmbXuZNS2jA
https://dl.doubtnut.com/l/_ptVTO3RR2Rgu

18. Which of the following statements is

incorrect ?

A. All green plants and blue-green algae

are producers.

B. Green plants get their food from organic

compounds.

C. Producers prepare their own food from

inorganic compounds.

D.Plants convert solar energy into

chemical energy.


https://dl.doubtnut.com/l/_ptVTO3RR2Rgu

Answer:

o View Text Solution

19. In the figure given along side, the various
trophic levels are shown in a pyramid. At which
trophic level is maximum energy available ?

e

AT,

B. T,


https://dl.doubtnut.com/l/_ptVTO3RR2Rgu
https://dl.doubtnut.com/l/_GAqsoO5x4d5N

D. T}

Answer:

° View Text Solution

20. Organisms which synthesise carbohydrates

from inorganic compounds using radiant

energy are called

A. decomposers

B. producers


https://dl.doubtnut.com/l/_GAqsoO5x4d5N
https://dl.doubtnut.com/l/_9zDZFId0Chry

C. herbivores

D. carnivores

Answer:

o View Text Solution

21. Which group of organisms are not
constituents of a food chain ?
(i) Grass, lion, rabbit, wolf

(i) Plankton, man, fish, grasshopper


https://dl.doubtnut.com/l/_9zDZFId0Chry
https://dl.doubtnut.com/l/_kAVWuU29MS4D

(i) Wolf, grass, snake, tiger

(iv) Frog, snake, eagle, grass, grasshopper

A. (i) and (iii)

B. (iii) and (iv)

C. (i) and (iii)

D. (i) and (iv)

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_kAVWuU29MS4D

22. The decomposers in an ecosystem

A. convert inorganic material to simpler

form

B.convert organic material to simpler

forms

C. convert inorganic materials into organic

compounds

D. do not breakdown organic compounds.

Answer:



https://dl.doubtnut.com/l/_AFLT4YwEpbi5

‘ o View Text Solution

23. Disposable plastic plates should not be

used because

A.they are made of material with light

weight.

B. they are made of toxic material.

C.they are made of biodegradable

materials


https://dl.doubtnut.com/l/_AFLT4YwEpbi5
https://dl.doubtnut.com/l/_TRgfkB6lZE7v

D.they are made of non-biodegradable

materials.

Answer:

o View Text Solution

24. What will happen if deer is missing in the
food chain given below ?

Grass — Deer — Tiger

A. The population of tiger increases.


https://dl.doubtnut.com/l/_TRgfkB6lZE7v
https://dl.doubtnut.com/l/_Cmks45uuUtPP

B. The population of grass decreases.

C. Tiger will start eating grass.

D. The population of tiger decreases and

the population of grass increases.

Answer:

o View Text Solution

25. If a grasshopper is eaten by a frog, then

the energy transfer will be from


https://dl.doubtnut.com/l/_Cmks45uuUtPP
https://dl.doubtnut.com/l/_rCatHau3lCTN

A. producer to decomposer.

B. producer to primary consumer.

C.primary consumer to  secondary

consumer.

D.secondary consumer to  primary

consumer

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_rCatHau3lCTN

26. The microorganisms comprising bacteria

and fungi are classified as

A. producers.

B. decomposers

C. tertiary consumers

D. primary consumers

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_o7zoqWQ2JZZa
https://dl.doubtnut.com/l/_oh3mo2SGYI7f

27. Very little useable energy remains after

A. two trophic levels

B. three trophic levels

C. four trophic levels.

D. five trophic levels.

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_oh3mo2SGYI7f

28. Concentration of harmful chemicals in a

food chain is maximum in the

A. first level.

B. second level.

C. third level.
D. top level.
Answer:

o View Text Solution



https://dl.doubtnut.com/l/_zLTPAdCUIGng
https://dl.doubtnut.com/l/_HHZNsA9KNSLI

29. Food web is constituted by

A.relationship between the organisms and

the environment.

B. relationship  between plants and

animals.

C.various interlinked food chains in an

ecosystem.

D.relationship between animals and

environment.


https://dl.doubtnut.com/l/_HHZNsA9KNSLI

Answer:

o View Text Solution

30. Substances that are broken down by

biological processes are said to be

biodegradable. This is due to

A. high pressure.

B. high temperature

C. consumption by primary and secondary

consumers.


https://dl.doubtnut.com/l/_HHZNsA9KNSLI
https://dl.doubtnut.com/l/_KKZ5587RW1S4

D. enzyme action.

Answer:

° View Text Solution

31. The most appropriate definition of a
natural resource is that it is a substance

commodity that is

A. present only on land.


https://dl.doubtnut.com/l/_KKZ5587RW1S4
https://dl.doubtnut.com/l/_HGC4loeqIZS0

B.a gift of nature which is very useful to

mankind.

C. a man-made substance placed in nature.

D. available only in the forest.

Answer:

o View Text Solution

32. Which one of the following is a green

house gas ?


https://dl.doubtnut.com/l/_HGC4loeqIZS0
https://dl.doubtnut.com/l/_LSEAC3LQaozE

A. Nitrogen dioxide

B. Carbon dioxide

C. Sulphur dioxide

D. Carbon monoxide

Answer:

o View Text Solution

33. When green plants are eaten by primary

consumer :


https://dl.doubtnut.com/l/_LSEAC3LQaozE
https://dl.doubtnut.com/l/_JzOf9atfXB7O

A. great deal of energy is transferred.

B. great deal of energy is lost.

C.there is not net loss of energy.

D. there is no transfer of energy.

Answer:

o View Text Solution

34. Choose the incorrect statement :
(1) Solar energy is eco-friendly. (ii) Diesel is eco-

friendly.


https://dl.doubtnut.com/l/_JzOf9atfXB7O
https://dl.doubtnut.com/l/_khLJKU0YKzMU

(iii) Kerosene is eco-friendly.

(iv) LPG is eco-friendly.

A. (i) and (ii)

B. (i) and (iv)

C. (i) and (iii)

D. (i) and (iii)

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_khLJKU0YKzMU

35. Which one of the following represent

correct food chain ?

A.Tree — Crow — Tiger

B.Deer — Jackal — Tiger

C.Zooplankton — Fish

D.Grass — Grasshopper — Frog —

Snake

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_mUGFD1XzV1T7

36. Consumers can be classified as following:
(i) Herbivore (ii) Carnivore
(iii) Secondary carnivore (iv) Saprotrophs
Amongst the options given, which ones feed
on another animal :

A. (ii) and (iii)

B. (i) and (iii)

C. (iii) and (iv)

D. (ii) and (iv)


https://dl.doubtnut.com/l/_mUGFD1XzV1T7
https://dl.doubtnut.com/l/_sAgg8GAtONIU

Answer:

o View Text Solution

37. If a grasshopper is eaten by a frog, then

the energy transfer will be from

A. producer to decomposer.

B. producer to primary consumer.

C.primary consumer to secondary

consumer.


https://dl.doubtnut.com/l/_sAgg8GAtONIU
https://dl.doubtnut.com/l/_pBPgipylhRwU

D.secondary consumer to  primary

consumer.

Answer:

o View Text Solution

38. Amongst the following, which one is not a

man made ecosystem :

A. Nilgiris

B. Garden


https://dl.doubtnut.com/l/_pBPgipylhRwU
https://dl.doubtnut.com/l/_5mFeJ8e7ShDJ

C. Kitchen Garden

D. Rice field

Answer:

o View Text Solution

39. Select the correct option for components
of an ecosystem
(i) Grass, Air, Rabbit

(i1) Soil, Sun, Tiger


https://dl.doubtnut.com/l/_5mFeJ8e7ShDJ
https://dl.doubtnut.com/l/_Zw36Ta2Num25

(iii) TV antenna, Road, Bird

(iv) Sky, Aeroplane, Bird

A. (i) and (ii)

B. (i) and (iii)

C. (i) and (iv)

D. (ii) and (iii)

Answer:

° View Text Solution



https://dl.doubtnut.com/l/_Zw36Ta2Num25

40. Given below are a few statements related
to biodiversity. Pick those that correctly
describe the concept of biodiversity.

(i) Biodiversity refers to the different species
of flora and fauna present in an area.

(i) Biodiversity refers to only the flora of a
given area.

(iii) Biodiversity is greater in a forest.

(iv) Biodiversity refers to the total number of
individuals of a particular species living in an

area.


https://dl.doubtnut.com/l/_yhb6IRgziPq2

A. (i) and (ii)

B. (ii) and (iv)

C. (i) and (iii)

D. (i) and (iii)

Answer:

° View Text Solution

41. Following are not an example of an

ecosystem :


https://dl.doubtnut.com/l/_yhb6IRgziPq2
https://dl.doubtnut.com/l/_9MGNrR1Og77G

A. Desert

B. Garden

C. Fish in a Bowl

D. Ocean bed

Answer:

° View Text Solution

True Or False


https://dl.doubtnut.com/l/_9MGNrR1Og77G

1. Substances that are not broken down by
biological processes are said to be

biodegradable .

o View Text Solution

2. Some organisms like plants and animals ,
but not microorganisms , interact with each

other and their physical surroundings.

o View Text Solution



https://dl.doubtnut.com/l/_333wUB65FCRi
https://dl.doubtnut.com/l/_iWDzudA5SRgv
https://dl.doubtnut.com/l/_ekONuHmK2czp

3.1n an ecosystem energy flow is bidirectional

o View Text Solution

4. At higher levels of atmosphere , a layer of
methane protects the earth's surface from

harmful UV radiations from the sun.

o View Text Solution



https://dl.doubtnut.com/l/_ekONuHmK2czp
https://dl.doubtnut.com/l/_6ybgltpccVWQ

5. Chemicals used as pesticides or fertilisers
are retained even in our food grains as wheat ,

rice and fruits and vegetables.

o View Text Solution

Fill In The Blanks

1. The physical and biological world where we

live in is called our

o View Text Solution



https://dl.doubtnut.com/l/_dkZCsEqymyN9
https://dl.doubtnut.com/l/_Cj11zm1eQ7Ys

2. Each level of food chain where transfer of

energy takes place is

° View Text Solution

3. are the physical factors like

temperature, rainfall, wind, soil etc, of an

ecosystem.

° View Text Solution



https://dl.doubtnut.com/l/_Cj11zm1eQ7Ys
https://dl.doubtnut.com/l/_qF6uQzWqjEuR
https://dl.doubtnut.com/l/_VHMygDdjCMRu
https://dl.doubtnut.com/l/_OaDVrFuqggnQ

4. Organisms which depend on the producers

directly or indirectly for food are called

o View Text Solution

5. Man made substances like glass, plastic etc,

o View Text Solution

6. The microorganisms like bacteria and fungi

play a key role in break down of complex


https://dl.doubtnut.com/l/_OaDVrFuqggnQ
https://dl.doubtnut.com/l/_a5LG6TnR3FoL
https://dl.doubtnut.com/l/_fQUVKjzTddPy

organic molecules into simple inorganic
substances which can be recycled. They are

called

7.The capture sun's energy and convert

it into chemical energy.

° View Text Solution



https://dl.doubtnut.com/l/_fQUVKjzTddPy
https://dl.doubtnut.com/l/_qwYJsBZI7SEt

8. can be taken as the average value for

the amount of organic matter present at each

step that reaches the next level of consumers.

o View Text Solution

9. The phenomenon by which chemicals get
progressively accumulated as we move higher

up in a food chain is called

o View Text Solution



https://dl.doubtnut.com/l/_JfRcJntn21Ko
https://dl.doubtnut.com/l/_T0LpJPPF3teK

Assertion Reason Questions

1. Assertion (A): All green plants and certain
blue-green algae can produce food by
photosynthesis.

Reason (R) : Presence of chlorophyll in these

organisms, enable them to do so.

A.Both (A) and (R) are true and (R) is
correct explanation of the assertion.
B. Both (A) and (R) are true but (R) is not

the correct explanation of the assertion.


https://dl.doubtnut.com/l/_ylgr4pzsRXeh

C. (A) is true but (R) is false

D. (A) is false but (R) is true.

Answer:

o View Text Solution

2. Assertion (A) : All consumers depend on
producers either directly or indirectly for their
nutrition.

Reason (R) : Consumers are heterotrophs.


https://dl.doubtnut.com/l/_ylgr4pzsRXeh
https://dl.doubtnut.com/l/_aKihHYCoaTgG

A.Both (A) and (R) are true and (R) is

correct explanation of the assertion.

B. Both (A) and (R) are true but (R) is not

the correct explanation of the assertion.

C.(A) is true but (R) is false

D. (A) is false but (R) is true.

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_aKihHYCoaTgG

3. Assertion (A) : Food chains can be as long as

any number of trophic levels.

Reason (R) : There are number of organisms

interdependent an each other.

A.Both (A) and (R) are true and (R) is

correct explanation of the assertion.

B. Both (A) and (R) are true but (R) is not

the correct explanation of the assertion.

C. (A) is true but (R) is false

D. (A) is false but (R) is true.


https://dl.doubtnut.com/l/_WczLhYbT3wXl

Answer:

o View Text Solution

4. Assertion (A) : The disposal of waste we
generate is causing serious environmental

problems.
Reason (R) : We should reduce the waste

generated.

A.Both (A) and (R) are true and (R) is

correct explanation of the assertion.


https://dl.doubtnut.com/l/_WczLhYbT3wXl
https://dl.doubtnut.com/l/_F7VObW53UfIQ

B.Both (A) and (R) are true but (R) is not

the correct explanation of the assertion.

C.(A) is true but (R) is false

D. (A) is false but (R) is true.

Answer:

° View Text Solution

Very Short Answer Questions


https://dl.doubtnut.com/l/_F7VObW53UfIQ

1. Mention one negative effect of our affluent

life style on the environment.

o View Text Solution

2. Why has there been huge hue and cry

against the use of CFCs ?

o View Text Solution



https://dl.doubtnut.com/l/_KCXCjhG65cvE
https://dl.doubtnut.com/l/_3HmgTswQ2LGj

3. Name the radiations from the sun that are
absorbed by ozone layer. Mention one harmful

effect caused by them.

o View Text Solution

4. What is meant by non-biodegradable waste
? Identify biodegradable waste from the
following: Empty packet of chips, empty bottle
of mineral water, empty paper box of sweets,

empty tin of a cold drink.

| & I


https://dl.doubtnut.com/l/_i5I97DrriedN
https://dl.doubtnut.com/l/_IlvWzVJJr9h8

| ¥ View Text Solution |

5. Select from the following substances which
have posed a threat to the environment :

Aerosols, consumers, bacteria, CFCs.

o View Text Solution

6. State two methods to get rid of non-

biodegradable wastes.

o View Text Solution



https://dl.doubtnut.com/l/_IlvWzVJJr9h8
https://dl.doubtnut.com/l/_GfSrOLwQgGTj
https://dl.doubtnut.com/l/_Tciijl1CbFkA

7. Construct an aquatic food chain ending with

shark.

o View Text Solution

8. How do autotrophs obtain CO5 and N; to

make their food ?

o View Text Solution



https://dl.doubtnut.com/l/_mZ8eSSmRbYDR
https://dl.doubtnut.com/l/_lutBEVXEt3lS

9. Why is ozone layer getting depleted at the

higher levels of the atmosphere ?

° View Text Solution

10. What advantage over an aquatic organism
does a terrestrial organism have with regard

to obtaining oxygen for respiration ?

° View Text Solution



https://dl.doubtnut.com/l/_rMII9qbTNHEd
https://dl.doubtnut.com/l/_WGSSW3PkwjY0

11. What is meant by the term Environment ?

o View Text Solution

12. Which of the following are biodegradable ?

Wool, glass, silver folil, leather.

° View Text Solution

13. Which of the following are biodegradable ?

Leather shoe, earthen pot, silver spoon, jute


https://dl.doubtnut.com/l/_6Fw3BPMIxGl3
https://dl.doubtnut.com/l/_kfWCIpULxK3L
https://dl.doubtnut.com/l/_eEKwZkPl35dN

bags

o View Text Solution

14. Which of the following are biodegradable ?
Tomato leaves, aluminium wire, synthetic fibre,

wool,

o View Text Solution

15. Which of the following belonging to a food

chain is likely to have maximum concentration


https://dl.doubtnut.com/l/_eEKwZkPl35dN
https://dl.doubtnut.com/l/_Ik1EHYmZSl7v
https://dl.doubtnut.com/l/_tcInp7DJMDpo

of harmful chemicals in its body ?

Kingfisher, zooplankton, fish, phytoplankton.

o View Text Solution

16. Which of the following belonging to a food
chain is likely to have maximum concentration
of harmful chemicals in its body ?

Peacock, frog, snake, grasshopper.

o View Text Solution



https://dl.doubtnut.com/l/_tcInp7DJMDpo
https://dl.doubtnut.com/l/_eOkwiqmqmqxe

17. Which of the following belong to the same
trophic level ?

Grasshopper, frog, grass, lizard.

o View Text Solution

18. Which of the following belong to the same
trophic level ?

Goat, grass, crow, squirrel.

o View Text Solution



https://dl.doubtnut.com/l/_UJqvEoyiQ3Nd
https://dl.doubtnut.com/l/_n2Lts4Jjjidq
https://dl.doubtnut.com/l/_fklIFIlD4foL

19. Rearrange the following according to their
ascending tropic level in a food chain.

Hawk, grass, snake, rabbit

o View Text Solution

20. If a harmful chemical enters a food chain
comprising fishes, phytoplanktons and birds,
which of the organisms is likely to have
minimum concentration of the harmful

chemical in the body?

o View Text Solution



https://dl.doubtnut.com/l/_fklIFIlD4foL
https://dl.doubtnut.com/l/_WAoSAcuSjvIK

21. In the following food chain 20 ] of energy
was available to the hawks. How much would
have been present in the plants ?

Plants — Rats — Snakes — Hawks

o View Text Solution

22. Give the technical terms for the graphic
representation of the trophic structures in a

food chain.

| = 1


https://dl.doubtnut.com/l/_WAoSAcuSjvIK
https://dl.doubtnut.com/l/_vV7hxCJRIfCM
https://dl.doubtnut.com/l/_9H9677Znp4QK

l &J View Text Solution I

23. State one difference between autotrophs

and heterotrophs.

o View Text Solution

24. During heavy rains in a village, rain water
carried excessive nitrogen compounds to a
pond. How will it affect the growth of fish in

the pond in the long run ?

l o View Text Solution


https://dl.doubtnut.com/l/_9H9677Znp4QK
https://dl.doubtnut.com/l/_H18gtePjq9lx
https://dl.doubtnut.com/l/_YWOuVojlb12W

25. Which food habits give us more energy?

Vegetarian or non-vegetarian.

o View Text Solution

26. In comparing the two ecosystems A and B,
it is observed that A has only first and second
order consumers, while B has third, fourth and
fifth order consumers. Which of the two would

be more stable ?



https://dl.doubtnut.com/l/_YWOuVojlb12W
https://dl.doubtnut.com/l/_SoxU6RcFxEms
https://dl.doubtnut.com/l/_j9QbtuEsKC9X

View Text Solution

27. Give an example of an organism that acts

as prey as well as predator in a food chain.

o View Text Solution

28. What are phytoplanktons ?

o View Text Solution



https://dl.doubtnut.com/l/_j9QbtuEsKC9X
https://dl.doubtnut.com/l/_fYsZpW6CAJRN
https://dl.doubtnut.com/l/_V2ggYiuHCfAM

29. What are zooplanktons ?

o View Text Solution

30. In a certain study conducted on occurrence
of DDT along food chains in an ecosystem, the
concentration of DDT in grass was found to be
0.5 ppm (parts per million) in sheep it was 2
ppm and in man it was 10 ppm. Why was the

concentration of DDT maximum in case of man

| & I


https://dl.doubtnut.com/l/_dM4j97FUl6Am
https://dl.doubtnut.com/l/_M8KrU28QGGVs

| ¥ View Text Solution |

31. Explain how does making of kulhads affect

our environment ?

o View Text Solution

32. Define a food web. State its significance for

ecosystem.

o View Text Solution



https://dl.doubtnut.com/l/_M8KrU28QGGVs
https://dl.doubtnut.com/l/_MbkU2AWK6k5V
https://dl.doubtnut.com/l/_2DHXpaq5sibB
https://dl.doubtnut.com/l/_qC8ywZPa0iMz

33. Which food chains are advantageous in
terms of energy ? Support your answer giving

one example ..

o View Text Solution

34. Why we say that energy flow in the

biosphere is unidirectional ?

° View Text Solution



https://dl.doubtnut.com/l/_qC8ywZPa0iMz
https://dl.doubtnut.com/l/_HrUDLRJmWOVN

35. The term producer for plants is misnomer.

Explain why?

o View Text Solution

36. Name two natural ecosystems.

o View Text Solution

Short Answer Questions


https://dl.doubtnut.com/l/_49MT0lUehJnC
https://dl.doubtnut.com/l/_kpJfUDDdm5qY

1. State one important function of ozone layer
in the atmosphere. How is it formed there?
Which compounds are responsible for the
depletion of ozone layer ? How do these

compounds enter into the atmosphere ?

o View Text Solution

2. What are decomposers ? Write the role of

decomposers in the environment.

o View Text Solution



https://dl.doubtnut.com/l/_hTByEX2HxXUY
https://dl.doubtnut.com/l/_Ln5dkOFyKIi1

3. Given below is a food chain :

Grass — Grasshopper — Frog — Snake
— Peacock.

What will happen to the members of different
trophic levels in the food chain, if all the frogs

of that area are removed ?

o View Text Solution

4. Differentiate between autotrophs ,

heterotrophs and decomposers and give one


https://dl.doubtnut.com/l/_Ln5dkOFyKIi1
https://dl.doubtnut.com/l/_6kTTan4tVJkz
https://dl.doubtnut.com/l/_5FAv7ebA0Dwx

example of each.

o View Text Solution

5. What is meant by garbage management ?

o View Text Solution

6. Suggest four methods to manage the

garbage.

° View Text Solution



https://dl.doubtnut.com/l/_5FAv7ebA0Dwx
https://dl.doubtnut.com/l/_KM6hNtkZahKA
https://dl.doubtnut.com/l/_nSRdvTRIznLu

7. What is an ecosystem ? List its two main

components.

o View Text Solution

8. We do not clean ponds or lakes, but an
aquarium needs to be cleaned regularly.

Explain.

o View Text Solution



https://dl.doubtnut.com/l/_fFtlxypFrbi4
https://dl.doubtnut.com/l/_LWWfvKe229eU

9. Distinguish between biodegradable and
non-biodegradable substances. List two

effects of each of them on the environment.

o View Text Solution

10. Distinguish between producers and

decomposers.

° View Text Solution



https://dl.doubtnut.com/l/_LGb6fTn4OF8Z
https://dl.doubtnut.com/l/_fJ2YizjMu29O

1. Classify the following as producers and
decomposers :
Green plants , Bacteria , Fungi , Blue-green

algae.

° View Text Solution

12. Why are bacteria and fungi called
decomposers ? List any two advantages of

decomposers.

° View Text Solution



https://dl.doubtnut.com/l/_IbMuDL8gmgPA
https://dl.doubtnut.com/l/_wu1ZKcWCUy5t

13. Name the process by which autotrophs

prepare their own food.

o View Text Solution

14. List the three events which occur during

the process.

o View Text Solution



https://dl.doubtnut.com/l/_wu1ZKcWCUy5t
https://dl.doubtnut.com/l/_Ev07O4A2iH4J
https://dl.doubtnut.com/l/_B573WNXiEUec

15. State two sources from which plants obtain
nitrogen for the synthesis of proteins and

other compounds.

o View Text Solution

16. State two differences between autotrophic

nutrition and heterotrophic nutrition.

° View Text Solution



https://dl.doubtnut.com/l/_kVqIhcZ9FvXH
https://dl.doubtnut.com/l/_bIkKRU78n4zy

17. Give one example of each of these

nutrition.

o View Text Solution

18. What is environmental pollution ?

o View Text Solution

19. Distinguish between biodegradable and

non-biodegradable pollutants.



https://dl.doubtnut.com/l/_ioRwyPHophAb
https://dl.doubtnut.com/l/_cvSDsVARrTU2
https://dl.doubtnut.com/l/_GyZg5tJte0Pv

View Text Solution

20. Choose the biodegradable pollutants from
the list given below :
Sewage, DDT, radioactive waste, agricultural

waste.

° View Text Solution

21. How would you dispose the waste ?

Domestic wastes like vegetable peels.

| & I


https://dl.doubtnut.com/l/_GyZg5tJte0Pv
https://dl.doubtnut.com/l/_HkMmEMHb5N7M
https://dl.doubtnut.com/l/_M9rEd1QMFB8M

| ¥ View Text Solution

22. How would you dispose the waste ?

Industrial wastes like metallic cans.

o View Text Solution

23. How would you dispose the waste ?

Plastic materials.

o View Text Solution



https://dl.doubtnut.com/l/_M9rEd1QMFB8M
https://dl.doubtnut.com/l/_3fnSkXw0GehZ
https://dl.doubtnut.com/l/_wWBDLa4ffJzl
https://dl.doubtnut.com/l/_vq1MNoDAompJ

24. What is ten per cent law ? Explain with an
example how energy flows through different

trophic levels.

o View Text Solution

25. "Vegetarian food habits can sustain a
larger number of people." Justify the

statement in terms of food chain.

o View Text Solution



https://dl.doubtnut.com/l/_vq1MNoDAompJ
https://dl.doubtnut.com/l/_0TfZcKXxSdZQ

26. What is food chain ? How does the study of
food chain in an area or habitat help us ? Give
an example of four-step food chain operating

in a large lake.

o View Text Solution

27. The flow of energy between various
components of the environment has been
extensively studied. Give an outline of the

findings.

| & I


https://dl.doubtnut.com/l/_iWf9Bd3qe9AY
https://dl.doubtnut.com/l/_nqPsG5MfgbNv

| ¥ View Text Solution |

28. From the following group of organisms
create a food chain which is the most
advantageous for Human beings in terms of

energy.

L&

o View Text Solution

29. State the possible disadvantage if the

cereal plant is growing in soil rich in


https://dl.doubtnut.com/l/_nqPsG5MfgbNv
https://dl.doubtnut.com/l/_fjTTJDlwK2y9
https://dl.doubtnut.com/l/_LGhbZEGDg9uO

pesticides.

o View Text Solution

30. Construct a food web using the organisms

mentioned above.

° View Text Solution

31. Write two harmful effects of using plastic
bags on the environment . Suggest

alternatives to the usage of plastic bags .


https://dl.doubtnut.com/l/_LGhbZEGDg9uO
https://dl.doubtnut.com/l/_dlECDMtmYkXX
https://dl.doubtnut.com/l/_Dyh8XwHm4hSF

° View Text Solution

32. List any two practices that can be followed
to dispose off the waste produced in our

homes .

° View Text Solution

33. What is meant by trophic level in a food

chain ? Construct a terrestrial food chain with


https://dl.doubtnut.com/l/_Dyh8XwHm4hSF
https://dl.doubtnut.com/l/_BgPtkwiiwZy0
https://dl.doubtnut.com/l/_RcpF8ikd1D0S

four trophic levels. The energy flow in a food

chain is always unidirectional. Why ?

° View Text Solution

34. Complete the following flow chart based

on ecosystem and its components.

&2

° View Text Solution



https://dl.doubtnut.com/l/_RcpF8ikd1D0S
https://dl.doubtnut.com/l/_7jXkQUNGdima

